
Question 

•  The compound below is best classified as a(n) 
  (CH3)3CCH2CH=NCH3 

•   A)  carbinolamine. 
•   B)  enamine. 
•   C)  hydrazone. 
•   D)  imine. 

Question 

•  Identify the product isolated when
 cyclopentanone reacts with dimethyl amine. 

•   A)     B) 

•   C)     D) 

The Wittig Reaction 



Charge distribution in a ylide 



Alkene Synthesis via 
the Wittig Reaction 



Question 

Select the product isolated when butanal reacts
 with the slide shown below.  

•   A)     B) 

•   C)     D) 

Question 



This methyl group hinders 
approach of nucleophile 
from top. 

Preferred direction of 
approach is to less hindered 
(bottom) face of carbonyl group. 





Question 
•  What is the product of the following Baeyer-Villiger

 oxidation reaction? 

What is the correct order of reagents to achieve the following synthesis.   

HINT:  If a reactant has two isolated C=C bonds, a mixture of products will form when
 hydrolyzed. The same problem occurs if there are two carbonyl groups when conducting
 a Wittig reaction. 

Question 


